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QUESTION 1

What is the result of a cvm becoming unavailable?
A. aroute is added to the host\\'s routing table

B. the guest VMs on the same node are stunted
C. VMs running on the node\\'s host are migrated
D. aroute is dded to the CVM\\'s touting table

Correct Answer: A

QUESTION 2

An administrator responsible for a VDI environment needs to investigate reports of slow logins. The administrator finds
that increasing the number of vCPUs from 2 to 4 will reduce the login times. Production workloads are consuming 75%
of the host CPU on the cluster. The administrator increases the vCPU count on all of the VDI VMs.

What are two impacts on the cluster? (Choose two)

A. Increasing CPU counts will decrease memory utilization

B. Increase memory utilization%

C. Increase CPU utilization%

D. Increase CPU ready%

Correct Answer:. AB

QUESTION 3

An administrator wants to be able to manage their application from prism central. Which feature must the administrator
enable to allow for application management?

A. Capacity runaway
B. self-service portal
C. entity explorer

D. Image management

Correct Answer: B
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QUESTION 4

When creating a VM on an AHV cluster, how is the initial placement of the VM determined?

A. AHV uses a round robin algorithm, placing new VMs onto hosts based on the numerical order of their UUID

B. The administrator right clicks on the desired host and selects Power on VM from the dropdown menu

C. The Acropolis Dynamic Scheduler selects a host which provides adequate resources for the VMs configuration
D. Placement is determined by the host that holds the new_VM token at the time of VM creation

Correct Answer: C

QUESTION 5

In which two scenarios is an automated live migration likely to occur? (Choose two)
A. Cluster resource hotspot

B. AOS upgrade

C. Network upgrade

D. Hypervisor upgrade

Correct Answer: AD
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